E 1713 | (Pages: 8) o Reg. No

Narhe..

.,?/)’

B.Com. DEGREE (C.B.C.S.S.) EXAMINATION, MARCH 2015
Sixth Semeoster |
Complementary Course 11—-PRINCIPLES OF BUSINESS DECISIONS
[For Model I B.Com.] ‘
Time : Three Hours ' . ‘ Maxunum Welght 25

'Answers may be written elther in Enghsh orin Malayalam
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This sectwn cons;sts of four bunches of four questions each. {
Each bunck carries a wetght of 1.

Answer all questtons Lo S -,‘Ii,: -
I. Choose the correct answer from the chomes glven below AR T
] o . ll :‘ \\-:}:‘.".‘-“"L": ‘ . .

1 Samuelson s deﬁmtmn of economms is known as: c |
(a) Wealth definition. (b) Welfare deﬁmtlon 3 SRR
\)/Growth deﬁmtlon v gd) \Scarmty deﬁmtlon .,:f.;.-;.. o

T2 Anmcreasemdemand can result from H‘ \!-.__;j‘.'_\_‘h'.xg;\;\;.._'._..;("JI--.‘;,\.,l_,_;_,ﬁh : :,;. : “';.‘:-"; T
\5)/Adeclmemmarket pnce o ke R f-j\:.-\ o ‘\ - . .

Wy

(b) Ani mcrease in mcome

C T
(c) An increase m the pnce of complements.w;.‘lﬁf B

(d) Alloftheabove R 7 R Q'
3 Isoquants eXPIamproductmn fllnctlonwﬂ‘.h ‘. g B
(a) All mputs o (b/ Two variable mputs R
(&) Two fixed mputs B . '.“ (d) One variable and one ﬁxed Ieputs ‘
4 Noproﬁtnolosspncmgxsknownas - "" o “; ' R :
(a) Cost plus pricing. - Meak even pncmg | |
| (c) Marginal cost pncmg | (d) Gomg rate pqe}ng.
IL. Fill in the blanks : R | i
5 Monetary policies are credlt. control measures adopted by — —CQAE‘-‘J‘ GML Dp a cow\ﬂ:j

6 The practice of charging hlgh pnce m the begmnmg is called -fﬁ'ﬂ—é’ﬂ Wmﬂj
7 The practice of charging dxﬁ'erent pnce  for the same product is termed as —EﬂﬂLﬂbm"'\Wﬂﬂ"h
8

method is used to measure elast1c1ty of demand for small charges in price.
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IH.' State whether the following statements are True or Falee :
(17 :te
! ty is below the

9 Downward shift in demand is known as decrease in demand.’
‘bus siness actm

10 During the boom phase of business cycle, the price and general .
normal. [Llcp Lo ‘. ,‘ o

11 Under price skimming, the price of the product will be very low: EULS e*’ ' n

12 Isquant curve are also known as different product curves E‘JE . . . ' ] -l

AII.  Match the folowing :— ‘ : L st
. . ' 3 - _' | o h S “l
A . - . ‘ B . w’( : oo S

' 13 Least cost input combination . (a) Joseph Sh“mpeter : DR
' 14 Demand forecasting (b) Discounting prmmple Clow T
15 Time vdlue ofmonest . _ e AC Plsou Co '_‘- ) T S
16 Innovation theory - L(d) Regressmn analjr'-‘Jls fq S .
o " () Producer’s equilibrium: !3 P

N,

e

¥

L o CobbDougIas R

NS Gt S
Foooo PartB

T Rt T Answer anyﬁve questwns -

17 State the Law of Demand o S

18 Expla.ln t.he term “derived demand” Ly i\ "
19 What is cross elasticity of demand ? . R '

20 What is productlon function 7. IR ‘ & : : A _

21 What is sunk-cost, ? ? ¥ o ‘ ’!\ ;;u"‘::‘;t;‘i 7 AT Sl

22 Write a short note on the features of perfect competltlon

T \

23 Define Monopoly IR LTEA |
24 What is meant by depression ?” TR 0 L U S B SR \, SR
B Ty

Answer any four questwns .. ;’: o -
" Each question carries a wetght 0f2 | o ,
Answer should not exceed halfa Page e e o
25 Discuss briefly the different degrees of price elastxclty o ¥ \ o
26 Discuss the different statistical methods of deman d f°re0a3tm ST e .
27 What are mternal economics of scale ?- : g :
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28 Examine the various stages in the life-cycle of product.

29 What is price discrimination ? When is it possible and profitable ?

3

30 What dre the evil effects of business cycle?

31 Discuss the main features of monopohstlc competltlon and sho

Each question carries a weight of 4. 4,
. Answer not to exceed four pages.
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PartD i

Answer any two questwns.

N )
' \

]

.+ 32 What is short run cost analysxs ? For, what type of dECISIOD.S is 1t usefu

33 How does the analysxs of demand contnbute to busmess de(:ISlOD ma
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